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d
U

o0 190
(A4, /)DDDOOOOOOOOOOOOODOOOOODA¢ F. ODDDODOfA={1}00 FOO fOOOO
oono

[0DO0)feF, fA=10000
f000000000a€cA, 0000 f(a®) = (fa)®* =1—fa. 0000fa=0000 f(a®)=00000
000 fA=10000

0019000 F-{A}=F0000000000000000000000feFOf11#£A000
gobooooboooooooooboooobobooobooooooboooooDoog
O
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a

D={deAy/d=VxaO00O0O d = 3xa}

oooooboooood

D={di,ds,---} 0000

hnEA¢(n=1,2,-~-)DDDDDDDDDDDDDD

di =X xal000 (Ae{v, 3}). 00000XUYDOOOODOOO Var, 0OODOOODOODOOOOO a
00000000000 000000 x000000 y, 0000 0000000000

d; =VxaOOO0Oh; =a(x/y1) = Vxa
d; =3xa 000 0h = 3xa = a(x/y1)

hy,---,h,_1 00000000d, =Xa000 (Ae{v, 3}). 00000XUY,hy,---,h,_, 00000
000 Var, 0000000000000 a00000000000000000 xO000000y,0000
h,0OOODODODOOO

dy, =VxaOO0O0Oh, = a(x/yy) = Vxa
d, = Ixa 000 Oh, = Ixa = a(x/yn)

Z={hy,hy,---} 0000
0

00 20 (XUZ,Y)0OA,0=<0000000000

[0O0]jooooooO

(XUZ,Y)00OOoOooo00000003aCX, BCY,hj€Z(j=1,---,n)st. a,hy,--- ,h, < B---(1).
a,hy,---,h, <0000 o,3,h00000000000000000

hy=f, =g 00000

<0000000000000000 gy <f, =g, (2).

(1)) 000000 a,hy,- by 1,80 < B+ (3)

0

000000000 £ < fy=gu---(4). 00000 < £,E0---(5).

4)(G)o0ooo000 <f,f, = gu---(6).

(1)(6) 000000 a,hy, -+ hy g < B, £y (7).

0

h, = a(x/yn) =VxaODOOO

0000 y, 0 XUY,hy,---,h, ;00000000000

(7)DD00000 a,hy, -+ ,hy_1 =< B, Vyna(x/yn) - (8).

O0000al0 xy, 0000 a(x/y,) 000000000000

0000y, 0a00000000y,0a000000000

000 {so,- -, 0 x0a000000000000000

yo 0 ad000000000000 {sg,---,8u} N {Im Vy, UIm Jy,} = 0.

0000a0000x0y, 00000000

O0000al x,y, 0000 a(x/y,) 0000000
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000000 1300 Vyya(x/yn) < Vxa---(9).

(3)(8)(9) 000000 a,hy, -, hyy <.

o0 n0O0O00O0O00ODO

a

h, =3Ixa=a(x/y,) 00000000 y, 0 XUY,hy,---,h, 1 00000000000
(3000000 ayhy, - s haoy < 6, 3ymalsc/ya) - - (10).

O00000a0 xy, 0000 a(x/y,) 000000000 1300 Jxa < Jysa(x/yn)---(11).
(M(10)(11) 000000 a,hy, -, hy g =< 5.

dddnDO0OO0OOOODOO

0015000 (XUZY)<(P,QUODOOoOo0 (P,Q) 000000

O

oo oooon

oo

feAy, teA, xeVare= dgecAyst.rankf=rankg, fxg, x0gO0000t0000O0
O000fxg<=f<g =g

[DO0]A,D0D000 f0D000000O0O0O0O00O00

(a) rank f=0 0000 00000 p; 0000 f=pi(ty, - ,tn), t; €A 00000
OO0O0O0fo vx,IxO0OOO0OO0OOO0OO0OO0OOxO fOOO0Ot0oOOOO

000 g=fO00000OOO

a

(b) rank £>100000f = ax(ay, -+ ,ay,) 00000

d

(Hf=vxhODODO

D00 fO0000x00000000D0OO00O00Ox0OfOoO0Ot0O0O0O0OO
OO0O0g=tfO0O0O0O0OO

a

(2)f=3xh/ 00O

000 fO0000x0O0000O00O0OO0O0O0D0Ox0O fOoOO0OD0t«t0O00O0O0OO
000 eg=fO000000OO

a

(B)f=Vyh', y e Vart, yA£x000
O00000000O03bhs.t.rtankh=rank b/, b xhxO hOOOO tO00000O
t,h00O000000000 z€ Var, — {x}0000g=Vzh(y/z) 0000
yeVart 000OyOD t0000000y # 2.

00 10000h(y/z) 0000 x0 t00000

zO0tOOOODODDOOOzO tOOOOoOooogog

0000 Vart,, NVar' = Varf . N{z} = 0.

000000 6000x0gdOODtO0OODODO
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OO00O0OC0zO hOOOOOOOOzO hOOOOOOQOOOO

000z0O hDOOODOODODOOODOODODOOD hOD yOOOOOO {sg, -+ ,snp 0000
{s0, " ,sn}N{ImVzUIm Iz} = 0. 00O0O0hOOOO yO z00ODODOO

0000hO yzO0OOO h(y/z) 0000000000 1300 Vyh < Vzh(y/z).
00000 1200 <0VyOOOOOOO Vyh <xVyh. 000 =< g.

a

rank h=rank h(y/z) 00000000 A, 0000 hOOOOOOOOOOOOOO
rank h=0 0 000hO0DO00 p; 0000 h=pi(ty,-,tn,) 00000
0000000 h(s/2) = it »ta))(5/2) = D161 (7/2), -+ tuy(v/2)). 0000 rank hy/2)=0.
rank h>10000h0 AeMOOOO h=A(ay, - ,a,,) 000 Orank h = X rank a; + 1.
y¢Var 00000000000 hy/z) = (Aat, - am,))(3/2) = A@1(y/2), - »am, (7/2))-
rank a; <tank hOOOOOOOOOOO rank a; =rank a;(y/z) i=1,---,ny).

000 Orank h(y/z) = ¥ rank a;(y/z) + 1 = X2 rank a; + 1 = rank h.

yEVar* 00000000000 h(y/z) =h. 000 rank h(y/z)=rank h.

000 rank f=rank h+1=rank h(y/z)+1=rank g.
goboobbobobooboobobooboonboboo

U

(4)f=Vyh',y ¢ Var' y £x000

O00000000O03hst. W <xhxO hOOOO t0O000O0O

g=VYyhOOODO

x0 hOOODO t00000000y ¢ Var* 00 Varg,, N{y} =0.

OOo0Do00 600 xO0ghOOOtODOOOO

00 1200 <O VyOOOOOOO Yyl < Vyh.

000 f=g.

O

(5)f=3yh', ye Vart y £x000

00000000003hst. h=<xhx0O hOOOO t0000O
t,hO0OODOODOO0OODO0OOO zeVar, 000O0g=3zh(y/z) 0000

yeVart D00yD t0000000y # 2.

00 10000h(y/z) 0000 xO0 t00000

zOtoOooOOoooOOOzO tOOOooooooo

zOtOOOODODOODOzO0 tOO0OO0O0OO0OO0OO

0000 Var,, N Var? = Varl, . N {z} = 0.
OO00D0O00e6000x0gODODtOOODODO

O000O0zO hOOOODOOOOOzO hODOOOOOOOO

000z0O hDOOOOODDODOOOODOOOD KOO yOOOOOO {sg, -+, 0000
{s0, " ,sn}N{ImVzUIm Iz} = 0. O0O0O0hOOOO0O yO z00ODODODO

0000hO yzO0OOO h(y/z) 0000000000 1300 3yh < Jzh(y/z).
00000 1200 =0 y0O000000 3yl =<3yh. 000 f =g

U
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(6)f=3Tyh',y ¢ Var' y £x 0000
0D0000000003hst. b <xhxO hOOOD t00000
g=3yh0000O

x0 hOOOD t00000000y ¢ Var* 00 Varg,, N{y} =0.
000000600 x0g0000t00000

001200 <0 3y0000000 3yh <x3yh. 000 fxg.

0

(Nf=ax(fr,-- ,f,), ax 0000000
00000000003 st §<gx0gO000t0000 (i=1,---,ny).
<000000000000 1100 <0 e, 0000000000g=ax(g1,--.8,) 0000 f=<g.
000, 0000000000600 x0g0000t00000

00 21 (XUZ,Y)<(P,QUOO00000 (P,Q)O000DOODON
l.xANyeP=x,yeP

XAy €eEQ=x€ QU000 yeQ

.xVyeP=xePO0O0OyeqQ

.xVyeQ=x,y€Q

.x=>yeP=x€QO00yeP

x=>y€eQ=x€P,yeqQ

x0eP=x€Q

0 J O Ot = W N

xeQ=xeP

9.VxaeP=000tcA 00000O0beA, 000000
00000000 ranka=rank b, ax<b, b(x/t) eP,x0bO000O t0000
10.Vxa€ Q= 00 t €A, 00000 a(x/t) €Q, x0 al00D0 t00D0O
11. xacP= 00 t€A 00000 a(x/t) €P,x0 a0000 t0000
12.3xac Q= 000t A, 0000000 beAy,000000
00000000 ranka=rank b, axb, b(x/t) €Q,x0 bOOO0D t0000

=)

1. xAyePOOOOOO
x¢PO0O0OOPQ D00DD0 (PU{x},Q DOOOOODO
O0003aCP,ACQst.x,a=x3---(1).
X000000000000D000 xAy=x---(2).
(1)(2)00000000xAy, o < 5.

xAyePODO0O0OODO0OOO (PQOUOOOODOODOODOOODOO xeP.
y¢POOOOOODODODOODOOOOy€eP.

d

2. xAy€QODODOOODO
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x,y¢QOOOD0D(PQ DO000DD (P,QU{x,y)ODOO0DDOO
00003aCP,CQst.a=xp,xy (1)
X000000000000000 xy =xAy---(2).
(1)(2)00000000« =< B,xAy.

xAy€eQUDOOODOO0O0OO (PQUODDOODDDODODODOxeQOOOyYEQ.
a

3. xVyePOOOOOD

x,y¢ POODODOO(P,Q) DO0OOD (PU{x,y},QOOODDOOD
O00003aCP,6CQst.xy,a=x8---(1).
X000000000000000 xVy=3xy---(2).
(1)(2)00000000xVy,a = 6.

xVyePOOOODOOOOD (P,QUO0OO000DOOOODOOOxeP.000yeP.
O

4 xAy€eQOOOOOD

x¢QUO000((PQ UDODNOND (P,QU{x})0D00O0OOD
O00003aCP,0CQst.a=xpx--(1).
X000000000000000 x=<XxVy---(2).
(1)(2)00000000a < B,xVy.

xVyeQDODODOOOOO (P,Q D000DON0DNON0DNONONDND xe Q.
y¢QOO0000000000000y e Q.

a

5.x=yePOOOOOD

x¢Q, y¢POODDO(P,Q OO0DOO (PU{y,Quix)DDODOOOO
000D03aCP,BCQst y,a=08x (1)
<0000000000000000 x,x=y<y-(2).
(1)(2)00000000x=y,a <.

x=y€ePO00O0DOO0ODO (P,QUOO0DNON0NONONDONONDxeQ, yeP.
a

6.x=yeQOOOOOO

x¢PO0OOO(PQ)OOONONOND (PU{x},Q 00OOODOD
O0003aCP,ACQst.x,ax3---(1).
<0000000000000000 x® <x=y--(2).

00000 <xx---(3).

1)(2)3)00000000a < B,x=y.

x=>y€eQUUOUODODOOO (P,QUODODOODODOODODO xeP.
y¢QOOD00O0(P,QUODDDNNO(P,QU{y)0I00D0O0
O00003aCP,0CQst.axpy---(4).

000000000000 oooo ij:>y---(5).
(4)(5)00000000a < B,x=y.

x=yeQUDODODOOOO (P,QUUONN0DNNDNONNONNDDyeQ.

18



a

7.x°ePO0O0O0OOO0O

x¢QDO00D00(PQOO0D0000 (P,Qu{x})0000000
O00003aCP,0CQst.a=xpbx--(1).

<000000000000000 xx¥ <---(2)

()(2)0DO00oo0o0Ox®,a=<p.

x¢ePO0O000O0OOOO (P,QOOOONONONOOONONNOOOO xeqQ.

a

8. xveQUOUDOOD

x¢ POOOOD(PQ 000000 (Pu{x},Q 0000000
O00003aCP,0CQst.x,ax8---(1).

<000000000000000 <%xx¥---(2)

()(2)00000000a < 8,x°.

x¢eQO0O0000000 (P,QOO00O00000000000O xeP.

a

9. VxaePOOOOOO

000000O0beA,00000 ranka=rankb, axb,x0bO000 tO00000
OO0 1200 x0OVvxOOOOOOO Vxa < Vxb.
xObOOOOtOODODODODODOODOOOODOODO bejb(x/t).

0000000000 Vxa < b(x/t).

b(x/t) ¢ POODODO(PU{b(x/t)},Q 000000000 3aCP, #CQs.t. a,b(x/t) <3
oooo0o0 a,vVxa = 4.

000 VvVxaePOOOO

d

10. Vxae Q000000

O0n00000d,=Vxa. y, 0000000000OOO
ywOalOOOOOOOOOooood

000 a00x000000 {sp,---,sx} 0000 {sg,--* ,8n} N{Im Vy, UIm F y,} = 0.
UobOx0O a0000 y, 00000

a(x/yn) ¢ QDO0O0D00O0D0(P,QU{a(x/y,)}) 0000000

00003« CP, BCQst a=xbax/yn).

<0000000000000000 a(x/yn),a(x/ys) = Vxa < Vxa.
0000000000 a(x/yn) = Vxa,a < 3, Vxa.

a(x/yn) = Vxa€Z CPODOODD (P.QOODODODODODNOOO

g

11. =xaePOOOOOO

OO0n00000d,=3xa. y, 000000000 OODOO
yowUalOOOoOoOoooooood

000 ab00x000000 {sg,---,s,} 0000 {sg, -+ ,8n} N{Im Vy, UIm F y,} = 0.
gobOx0datd0dbon0 y, 00000
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a(x/y,) ¢ Q0O0000D(PU{a(x/ys)},Q DOOOOOD

00003aCP, 8CQst alx/yn),a =X 0.

<0000000000000000 3xa, 3xa = a(x/ya) < a(x/ya).
0000000000 Fxa,dxa= a(x/yn)a X 5.

Ixa = a(x/yn) €EZ2CPOOOOD (P,QUONNONDDDOODD

a

123xa € QOOO000D0

000000O0beA,00000 ranka=rankb, axb,x0bOO000 tO00000
00 1200 x0 3x0000000 Jxa =< dxb.
xObOOODOt0O00OD0OO0OOO0DOO0OOOOOO b(x/t) < 3Ixb.

0000000000 b(x/t) < Ixa.

b(x/t) ¢ QODOOODO(P,QU{b(x/t)}) 000000000 3aCP, 8CQst. a=< g bx/t)
000000 a< G, Vxa.

000 VxaeQUOOOO

22 0O0OO0OODO

oooooooooooboogo

00 18(0DO000O0DDOOODO) O
A0JO0OO0O0O0O0DOOO0OO0DOOO0OO0OOO0O0ODOO0O0ODOOOO0ODODOOO0OODOOOOO

=0 A;‘SDDEII]I:IDDDDDDDDDDDDDDDDDDDDDDDDDD ¢, 000vOO0ODO

a=<xb= (®%a)v < (P*b)v
gboooooog
ooooX,Y)O A,0 X000000000000DOOO0O0OO0O000

X, Yoooooooo varOoooooono

00000000 (A, /) DDDOD (X,Y)DDOODODODOODDOO
O

Oo]

AODODOUOOODOOUOOWOOODOO UOOOvOOoOOoooo

heP = (@h)yv=1
heQ= (®*h)v=0

coooooooooooao
O
oooooooo

W=AIUT
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0o0o0oOwoooo {AV,=,0,p,65liel, je)}0000000000

DomA = T? aAb =inf{a,b}

DomV = T? a Vb =sup{a,b}

Dom = = T? a= b =sup{l —a,b}

Dom$ =T0O a®=1—a

Dom p; = W2 Pi(ty, - tn) =1 <= pi(tsy, -~ ,tn,) €P (0 p000,ie])
Dom f; = W™ fi(tr, -+ bmy) = fi(t1, -+, b (m;0 §000,j€J)

000000 ¢,000vOD0OO0OO0O0oOoOO0O00

Px=x(x€Con)00D0DODO vx =x (x € Var)
0000000000000 00 A, 0000 hODOO0OO0OD0OOO000000
go

000 teA 0000 (dt)v =t.
0
[D0]JA. 0 PmmO00O0O00DOOO0O0ODOOOOODOOOOODOOOOODOOOOODOOO
oot oooooo
a
rank t=000 00t € Prm.
teConO000(P*t)v=>t=t. t € Var 0O OO (P*t)v =vt =t.
0000 (@*)v=t000000
rankt >10000t00000 50000 thj(tl,-”,tmj)DDDDD
(@)% = (@ (G (11, b)Y = BB v, (D4 )¥) = (b, ) = (b, o+ s ta) = 1.
gdddoooooooooooboboobooo

(a) rank h=000003d €I, t; € A(j=1,--- ,m) s.t. h =pi(t1, -, tny)-
00000 (@t)v=t (G=1,--,n).

0000 (@*h)v = (D*(pi(t1, -« »tn)))v =Di((P*t1)v, - -+, (D*tn,)V) = Pilte, -+, tny)-
/000000

heP = (&*h)v = 1.

he Q= (®*h)v=0.

O

(b) rank h>1 0000

l.h=aAbOOO

(®*h)v = (®*(a A Db))v = (P*a)v A (P*b)v = inf{(P*a)v, (P*b)v}.

U

21



ChePOOOO

002100 a,beP.
000000000 ($*a)yv = (&*b)v = 1.
0000 (®*h)v = 1.

U

DheQOOOO
002100a€QO000 beQ.
000000000 (®*a)v=0000 (&*a)v = 0.
0000 (@%h)v = 0.

g

2.h=avbO0OQd

(®*h)v = (®*(a VvV b))v = (D*a)v V (2*b)v = sup{(P*a)v, (P*b)v}.
O

OChePOODODO

OO0 2100 aePO0O0O0ObeP.
000000000 (@%)yv=1000 (P*a)v=1.
0000 (@h)v = 1.

a

OheQOOOO

002100 abe Q.
000000000 (@%a)v = (2*b)v = 0.
0000 (®*h)v = 0.

U

3.h=a=b0O0O0O

(®*h)v = (®*(a = b))v = (P*a)v = (&*b)v = sup{1l — (P*a)v, (®*b)v}.
d

ChePOOOO

002100 aeQ0O00belP.
000000000 (@*a)v=0000 (&*b)v = L.
0000 (*h)v = 1.

d

DheQOOOO

OO0 2100 aeP.beqQ.
000000000 (@*a)v =1, (®*b)v=0.
0000 (@%h)v = 0.

g

4. h=a%000

(@*h)v = (®*(a®))v = ((®*a)v)®.

g

OChePOOOO
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002100 acqQ.

oooooooo (P*a)v=0.

0000 (®*h)v = 1.

U

DheQODOD

OO021000a€P.

00000000 (®*a)v=1.

0000 (@ h)v = 0.

4

5.h=vVxaO0O0O

(®*h)v = (®*(¥xa))v = (Vx(P*a))v = inf{(P*a)((x/w)v)| w € W}

g

OhePOOO

0021000000teA 0000000 beA,00000O

rank a=rank b, axb,x0 bOOOO t0000, b(x/t)eP.

000000000 (@*a)((x/t)v) = (*b)((x/t)v).

t €A, 00 (2*b)((x/t)v) = (2*b)((x/(D*t)v)v).
x0bOODOt0000000000000000 (&*b)((x/(D*t)v)v) = (®*b(x/t))v.
rank Vxa>rank a= rank b= rank b(x/t) 00000000000 (®*b(x/t))v = 1.
0ooog(®*a)((x/t)v) = 1.

te A 000D00000DOOWOOOOO

(®*h)v = inf{(P*a)((x/w)v)| w € W} = inf{(P*a)((x/t)v)| t € A} = 1.
U

DheQODOD

00210000+teA. 00000 a(x/t)eQ,x0a0000 t00000O
t €A 00 (P*a)((x/t)v) = (P*a)((x/(D*t)v)v).

x0 a0000t0000000000000000 (*a)((x/(D*t)v)v) =
rank Vxa>rank a=rank a(x/t) 00000000000 (P*a(x/t))v=0.
000 (P*a)((x/t)v) = 0.

000 (®*h)v = inf{(d*a)((x/t)v)| t € A} = 0.

d

6.h=3xa000O

(®*h)v = (®*(Ixa))v = (Ix(P*a))v = sup{(®*a)((x/w)v)| w € W}

g

OChePOOO

00210000 t€A. 00000 a(x/t)eP,x0al000 t00000
t €A 00 (P*a)((x/t)v) = (P*a)((x/(P*t)v)v).
x0a0000t0000000000000000 (9*a)((x/(2*t)v)v) =
rank Ixa>rank a=rank a(x/t) 00000000000 (®*a(x/t))v=0.
0og (9*a)((x/t)v) =0.

(P*a(x/t))v.

(P*a(x/t))v.
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000 (®*h)v = sup{(®*a)((x/t)v)| t € A} = 1.

d

DheQOOO

0021000000teA, 000000O0beA, 000000

rank a=rank b, ax<b,x0 bOOOO t0000, b(x/t)eQ.

000000000 (P*a)((x/t)v) = (*b)((x/t)v).

t€A. 00 (®*b)((x/(P*t)v)v).

x0bODO0 t000D00D000000000 (&*b)((x/(®*)v)v) = (®*b(x/t))v.
rank Ixa>rank a= rank b=rank b(x/t) 00000000000 (®*b(x/t))v =1.
Oooo(®*a)((x/t)v) =0.

te A 000D000O0O0DOOWOOOOO

(®*h)v = sup{(®*a)((x/t)v)| t € A} =0.
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3 000D0O0o0oDbooooooo

cooooooboooobooooboooooobooooo0ooooooooo0oooooooooooonn
oooooooooocoooo

31 0000000
0000000000000 000D0O00O0DOO0O0OObO0OOo Joooo

00 30 (00) D
A*AD00D00AOODOODOOOAODOODOODO

00 31 (00) D0
RDOADOOOOOOOAOOOOOD, (n=0,1,---)000000000000000
000Dy,=DO00O0r>100000D,,00000000

D, =Dy 1U{y € A] 3o C D3 s.t. aRy}
D,0AOnOO0,.,D,0DOROOOODODD ROD [DjgO0000

00 22 0
ROODODODODOOO0O0ODg={y€Al3acPDst aoRy}. 0000PDODOOOODOOOOD
000

00 32 (0000)0
RDO ADOOOOOOO
1.A*,A0000 Fgp 00000000000

a’:R,Dy@[aUD]RBy

0 kErpO0RODOODOOO
0
2.A*0000 xzgp 00000000000

a<grp B> [@aUDJg 2 m[{Y}UD]R
yep

O<gpORDOOOOOOOOO
O
O0000ORDOOOOOD A*xAOUOOOO RO DOOOOOO

O00(A,B)0D00D0O000DD COODO

00 33 (0000)0
000 BODO0O0D00 A*,A0D000O0 (A,B) 000000000000

VBeB, aCB,yeA aRy=y€B
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0000 ROODOOOOOO(A,B)D0D00D00O0ODOOLOOOOOUODO (A,)B)DOODLDODOODOQD
ooo
coooooooocooon

00 34 (000)0
RDDOADODDOOOD
1.AODOODRDOD (B0000)00000000RRpCQOOO0ODOOOD
2.A0000RDO (BOOOD)O0O0OO00000ERp2QO00ONODO0ONOMN
3.A0000RDO (BODOD)000000000000000000O0ODO0
4. ADD0DORDO (BOODOD)ODOOOODOOOC=[DjgO0000000000

00 23 0
ADDDORDOODOOOODOOODOOODOOD
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